Addition Problems

Solve these problems without using a calculator. Show your work.

Aidan has 124 toy cars. He bought 78 more. How many toy cars does he have altogether?

Answer:

Jasmine saw 45 boys’ and 186 girls at the park. How many children did Jasmine
see altogether?

Answer:

Liza's family drove 146 kilometers to see her grandparents and 146 kilometers back home.
How many kilometers did they drive in all?

Answer:

Jaidalyn bought 156 star stickers and 189 flower stickers. How many stickers did Jaidalyn
buy altogether?

Answer:

Ivan bought 467 green pencils and 253 red pencils. How many pencils did Ivan buy in all?

Answer:

W Page 1of 2 twinkl.co.uk



6. Gianella has 573 pumpkin seeds and 290 carrot seeds. What is the sum of all her seeds?

Answer:

7. Zoesaw 421 butterflies and 399 ants in her garden. How many insects did Zoe see in all?

Answer:

8. Will scored 35 points in the first part of the board game. He scored 86 points in the second
half. What is the sum of Will's points?

Answer:

9. Parker has 835 baseball cards and 279 football cards. How many cards does Parker
have altogether?

Answer:

Bonus Question:
Maile has 200 dimes. She found 345 nickels. How much money does she have in all?

Answer:
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Addition Problems Answer Sheet

1. Aidanhas 124 toy cars. He bought 78 more. How many toy cars does he have altogether?

124 + 78 = 202.
Aidan has 202 toy cars altogether.

2. Jasmine saw 45 boys’ and 186 girls at the park. How many children did Jasmine see altogether?

45 + 186 = 231
Jasmine saw 231 children at the park.

3. Liza's family drove 146 kilometers to see her grandparents and 146 kilometers back home. How many
kilometers did they drive in all?

146 kilometers + 146 kilometers = 292 kilometers
Liza’s family drove a total of 292 kilometers.

4. Jaidalyn bought 156 star stickers and 189 flower stickers. How many stickers did Jaidalyn buy
altogether?

156 + 189 = 345
Jaidalyn bought 345 stickers altogether.

5. Ivan bought 467 green pencils and 253 red pencils. How many pencils did Ivan buy in all?

467 + 253 =720
Ivan bought 720 pencils altogether.

6. Gianella has 573 pumpkin seeds and 290 carrot seeds. What is the sum of all her seeds?

573 + 290 =863
Gianella has 863 seeds altogether.

7. Zoe saw 421 butterflies and 399 ants in her garden. How many insects did Zoe see in all?

421 + 399 = 820
Zoe saw a total of 820 insects.

8. Will scored 35 points in the first part of the board game. He scored 86 points in the second half. What is
the sum of Will’s points?

35+86=121
Will scored 121 points in total.

9. Parker has 835 baseball cards and 279 football cards. How many cards does Parker have altogether?

835+279=1,114
Parker has 1,114 cards altogether.

Bonus Question
Maile has 200 dimes. She found 345 nickels. How much money does she have in all?

200 dimes = $20.00
345 nickels = $17.25
$20.00 + $17.25 = $37.25
Maile has a total of $37.25.
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